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HYRE L 2e(AE) 216,216 214,216 2,000
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OS2 1 022t ZdI(L=300m)
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O&lE2 AFHAEHIS AHL=20m)
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Z2&E 15,290,000& 15,290 16,026 AT36
O#=&l OtA2SM 2|3 AH1L=500m)
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2% 46,207,008 46,207 40,000 6,207
O&D| S2EFBAHL=100m)
23 28,577,000& 28,577 23,000 5,577
OQI82 ti+=2 LAFHEHIZ AHL=40m)
34 02 0 13,857 A13,857
O4D| HEId+=HEEHISA 13,263 0 13,263
Odds dNiiSti=2 8IS At 20,726 0 20,726
OHNE1 OtAZ2IH RIS A 10,256 0 10,256
Oz=dt HESE2I8)HA 9,150 0 9,150
Os8 SctEEXI2500A 9,510 0 9,510
SE&E2 sZ2E 3202 15,000 0 15,000
ONIE2 D=2 IS A 10,100 0 10,100
OJ1= =2 ZHISAt 2,750 0 2,750
Od& Wil ZHISAIS7H 12,900 0 12,900
O=HAMZ HH|SA 84,000 0 84,000
OHNINR+LOIEESTHA 14,500 0 14,500
O=21 2HEHISAM 10,000 0 10,000
OATEAIZE+SAt 39,411 0 39,411
OEE AoIEEESA 15,000 0 15,000
ONE AotdEESA 15,000 0 15,000
II2E Sl (WAS) 419,000 404,000 15,000
401 Al HIZL 01| 155,000 140,000 15,000
01 A&l 155,000 140,000 15,000
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23 135,000,000 135,000 120,000 15,000
ot R 2t 50,000 0 50,000
401 AIEHIZL SR OHYI 50,000 0 50,000
01 AlZHI 50,000 0 50,000
O=x=HAMZ HE=SAt 50,000 0 50,000
2L AHI(WLHS) 300,348 208,348 2,000
Jl2dul(netg) 117,584 115,584 2,000
J123HI(aHE) 117,584 115,584 2,000
201 fer23| 44,108 42,108 2,000
01 AF2-2t2ltl 30,416 28,416 2,000
OJl2+EHl & 14,800,000& 14,800 13,800 1,000
OJlzsgHl & & 5,416,000 5,416 4,416 1,000




